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Trigonometric

Isinx dx=-cosx+C Icscxdx:-lnlcschrcotxHC
Icosxdx:sinx+c [secxctx=]n|secx+tanx|+0
Itanx dx =-In|cosx |+ C Icotxdx:lnlsmlerC

Trigonometric Result

Icosxdx:sinx +C Icscxcotxdx:—cschrC
Isecxtanx dx =secx +C Isec’x dx=tanx +C
Icscax dx =-cotx+C Iarcsinxdx:x arcsinx+J(1-x")+C

Inverse Trigonometric

Iarcsinx dg =xarcsinx+J0-x* )+
Iarccscx dx =xarcosx-AJ(-x*)+C

J-arctanx dg =x arctan -x(1/2)In (1+xH)+C

Inverse Trigonometric Result
j- dx

Na-x
I 2 =arcsec |x |+ C
x;;CI-x')

dx
-[1 T =arctanx +C
+x

=arcsinx+ C

Useful Identities

arccosx=m/2-arcsinx (-1Sx£1)
arccsex=m/2-arcsecx  ([x[21)

arccotx = /2 -arctanx (For All X)

Hyperbolic

j‘smhx dx =coshx+C Icschxdx:ln[ta:ﬁ(x/Z)HC
Jcoshx dx=smhx +C Isechxdx:a.rctan (sinhx) +C
J'tanhx dr =ln (coshz) +C Jeothxdx =In]sichx |+ C
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